
Question -1) Which of the following best explains the primary criticism leveled against the
NDA government in the passage?

A. The NDA government has failed to maintain the same level of fiscal prudence as the UPA
government.
B. The NDA government has reduced budget allocations to critical welfare schemes, thereby
exacerbating social inequalities.
C. The NDA government has prioritized corporate tax cuts over welfare spending.
D. The NDA government has failed to introduce new welfare schemes during its tenure.

Question -2) What is the author's perspective on the NDA government's budget allocation
towards health, as mentioned in the passage?

A. The author is satisfied with the increase in health budget allocation.
B. The author believes the increase is insufficient to address the healthcare needs of the population.
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C. The author views the health budget allocation as an example of fiscal irresponsibility.
D. The author thinks the health budget allocation should be reduced further.

Question -3) According to the passage, which of the following statements is implied about the
impact of corporate tax cuts introduced in 2019?

A. They have stimulated significant economic growth, justifying the reduction in welfare spending.
B. They have had little impact on the economy and should be rolled back.
C. They have reduced the government's fiscal space, leading to cuts in welfare spending.
D. They have been beneficial for the wealthy but harmful to the poor.

Question -4) Which of the following can be inferred about the relationship between the NDA
government's welfare policies and India's Human Development Index (HDI) ranking?

A. The reduction in welfare spending is a direct cause of India's low HDI ranking.
B. India's HDI ranking has remained unaffected by the NDA government's policies.
C. The NDA government's welfare policies have improved India's HDI ranking.
D. India's HDI ranking would have been worse without the NDA government's welfare policies.

Question -5) The passage mentions that during the COVID-19 pandemic, the budget
allocations for MGNREGA and NFSA were increased. Which of the following is the most likely
reason for this increase, based on the passage?

A. The government aimed to stimulate economic growth during the pandemic.
B. The government needed to rely on these schemes to avert a major disaster during the pandemic.
C. The pandemic led to an unexpected surplus in government revenue, allowing for increased
welfare spending.
D. The international community pressured the government to increase welfare spending during the
pandemic.

Question -6) Based on the passage, which of the following statements about the NDA and UPA
governments is most accurate?

A. The UPA government focused more on fiscal discipline, while the NDA government prioritized
welfare schemes.
B. The UPA government introduced new welfare schemes and consistently increased their budget
allocations, unlike the NDA government.
C. Both the UPA and NDA governments have shown a consistent commitment to welfare spending.
D. The NDA government has followed a similar welfare policy approach as the UPA government, but
with better results.
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